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Honors Geometry Name ID: |
Ch. 11 Study Guide (Surface Area & Volume) Date Period__
" Find the lateral area and surface area of each figure. Round your answers to the nearest hundredth,
if necessary.
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Find the volume of each figure. Round your answers to the nearest hundredth, if necessary.
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Each pair of figures is similar. Use the information given to find the scale factor of the figure on 6
the left to the figure on the right. | .
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Some mfgrmation about the surfice area and volume of two similar solids has been given. Findi

the missing value.
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